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In a power transformer, conservator takes care of

expansion and confraction of oil (B) atmospheric temperature variation

(C)  atmospheric humidity variation - (D) " load fluctuation

As resistance is added in the rotor circuit of a slip ring induction motor, its maximum torque -
(A) increases but occurs at the same slip

(B)  decreases but occurs at the same slip

(C)  remains the same and also occu;-s at lower shp

remains the same but occurs at higher slip

The use of Higher flux density in the transformer design

Reduces the weight per KVA
(B) Increases the weight per KVA

(C) ' Has no relation with weight of transformer

(D)  Increases the weight per KW

The expression for power developed by a salient pole synchronous generator is given by

: ViX,-X : VX, -X
(A) Pm=Mc05a+Mc082a szEb Vsina'+—-(—d-—q)sin2a
’ . Vix, X Vo ViX, X
(C) Pm=-Eb—V—cosa+—Lf—-—‘f)cosza (D) szEf’ Vsma+——(£—225m2a
X, 2(X,-X,) . 2(X,-X,)
The power faqtor in a transformer :
(A) is always unity (B) is always leading

(C) 1is always lagging . depends on the power factor of load

The compensating windings in a dc machine is located

(A)  on armature slots for compensation of armature reaction

(B}  on commutating pole to improve commutation . '
in slots in the pole shoes to neutralize the cross magnetising effect of armature reaction

\w)  on armature slots to prevent commutation

Which of the following motors is not self starting?
fAy  Squirrel cage induction motor (B) Wound rotor induction motor
Synchronous motor : (D) DC series motor -
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91. Output B comes on at a specific time after output A is turned on, when A is turned off,
B also goes off is known as
(A)  Off delay timer ' On delay timer
(C) Limited on delay timer (D) Limited off delay timer
- 92, Communication in DCS should have delay.
(A) minimum (B) maximum no (f)) moderate
93. Long-term data storage and retrieval is being performed in the
. (A) LLHID (B) LCU (C) HLCU 1LHID
94. In many DCS dedicated devices called sequence of events recorder monitor the occurrence of
discrete event is known as _ '
(A)  Process alarms rip lags
(C) Equipment alarm - (D) Operator control action
95. provide a background for the dynamic portion of the graphic display.
(A) Data field Static field
(C) Dynamic field ] () Transient field
M N
96. : — 0 l O
0 P ‘
——-0 o—
The configuration is known as
(A) NOSPST (B) NC SPST (C) NO SPDT
97. The display in DCS is similar to a P & ID (or) mimic panel used on conventional panel board
tn illustrate the process equipment and its associated instrumentation is known as '
Area graphic display " (B) Alarm summary display
(C}  Batch control display : {D) Operator guide
98. In hierarchy display at this lend deal with the control loops and data points relating to a
' single process unit within 2 plant are known as
(A) Plant level Group level (C) Arealevel (D)  Loop level
—
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A three phase over head transmission line has its conductors horizontally spaced with spacing
between adjacent conductors equal to ‘d’, if now the conductors of the line are rearranged to
form a equilateral Triangle of sides equal to ‘d’ then

(A)  Average capacitance and inductance will increase

(RY  Average capacitance decreases and inductance increases
Average capacitance increases and inductance decreases

w;  Surge impedance loading of the line increases

Consider the following two statements consisting of Assertion (A} and Reason (R) and select
your answer using the codes given below.

Assertion (A) In transmission lines, conductors are transposed

Reason (R) : The resistance per phase has to be same
(AY  (A)is true and (R) is false (B} Both (A) and (R) are false
Both (A) and (R) are true (D) (A)is false and (R) is true

4

Pelton turbines are suitable for
(A) - Low heads (B) Medium heads
High heads (D) Low and medium heads

Storége requirement for hydro electric plants can be determined from

(A) flow duration curve hydrograph
(C) stream flow (V) load demand
A synchro is used to

fay - accelerate a rotating shaft

convert an angular position of a shaft into an electrical signal
(U)  convert linear motion into angular position
(D)  amplify low frequency signals

-~ —aking an unstable system to stable *
gain of the system should be increased
()  gain of the system should be decreased
(C)  the number of zeros to the loop transfer function should be increased
(D)  the number of poles to the loop transfer function should be increased

In a 70/6 A.C.S.R conductor there are

fAy 35 aluminium conducters and 3 steel conductors
70 aluminium conductors and 6 steel conductors

{C) 70 steel conductors and 6 aluminium conductors

(D) 35 steel conductors and 3 aluminium conductors

For low head and hi © *° ~ arge the hydraulic turbine used is
(A) Francis turbi Kaplan turbine (C) Pelton wheel (D) Propeller
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A Tinear Variable Differential Transformer (LVDT) is
a displacement transducer (B) an impedance matching transformer
() a differential temperature sensor (D) an auto transformer

Linear variable differential transformer has
(A) . two primary coils connected in phase and a secondary coil
(B)  two primary coils connected in opposition and a secondary coil
(CY  one primary coil and two secondary coils connected in phase
one primary coil and two secondary coils connected in opposition

In smart sensor system, Network Capable Application Processor (NCAP) performs the
function of )

(A) Data transfer and communication Detection and control of TIMs
(C) Command Processing . (1)) Analogue signal conditioning

Which of the following device is used for large power rating for transducting displacement?
(A)  Single slide wire potentiometer Cermet
(C) Wire wound potentiometer (D) LVDT

In smart sensor, TEDS module stands for ,
(A)  Transducer Electrical Digital Senso [ransducer Electronic Data Sheet
(C)  Transmitter Electrode Digital Score (D) Transmitter Electrical Drift Sensor

A variable reluctance type of transducer consisting of a coil which is wound on a
(AY  Aluminium core (B) Copper core
Ferromagnetic core (D) Silver core

provide dimensional standards of length for industry.
(A)  Vernier calliper ' M Micrometer screw
(C) Dial Gauge : Gauge blocks
Backlash error of screw gauge is ‘minimized by

(A)  decreasing the size of screw (B) increasing the size of screw

greasing the screw ‘ (D) pressuring the screw

The principal disadvantage of Piezo electric transducer is that
(A) it needs external power : it cannot measure static pressure

(C) life time is less ww;  needs an airconditioned environment
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175. Fatigue and saturation in Photo Multiplier. Tube (PMT) occur at illumination

lavrnl .

high : (B) low (C) medium (DJ. decreased

176. The grating has ‘
(A) 1000 lines/mm {(B) 1100 lines/mm 1200 lines/mm (D) 1300 lines/mm

177. The Nichrome strip temperature is about
(A) 600-700°C (B) 700-800°C 800 —900° C (D) 900 -1000°C

178. Transfer function of transportation lag is

(A ™ e (© (D)

1
TS

5+1

179. A deadbeat algorithm is referred as the one that requires the closed-loop response to have
~ (A)  Finite settling time, maximum rise time and zero-steady state error
Finite settling time, minimum rise time and zero-steady state error
W) Maximum settling time, minimum rise time and finite-steady state error
(D) Minimum settling time, finite rise time and finite-steady state error

180. Which one of the following is not the feature of Dahlin's algorithm?
{A) Same as that of internal model control for first-order plus dead time processes -
(B) Robustness of the loop in the presence of modeling errors
(€Y Improves dynamic response with sensitive to modeling errors
Suitable for processes with inverse resp'onse :

181. Z-transformation of [e’“‘] is equivalent to
i é—-anT 3-:: - (B) i eﬂuT 3—!1 (C) i e—anT R (D) i eanT »3::
n=0 . . n=0

n=( n=0

182. control anticipates future errors and introduce appropriate action.
(A) On/Off (RY  Proportional '
(C) Integral _ Derivative _

183. For a multicapacity process whose response 1s very sluggish, the addition of a —
controller makes it even more sluggish.

(A) On/Off By P ° PI (D) Pln
184. In On/Off controller if the differential gap is : the control value life will be
small, decreased (B) smiall, increased

(C) large, decreased (D) large, increased
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